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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
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Question 1D : 9864493747

O
A B c o

The below figure is embedded in one of the four answer figures. Which of the figures
comtain the below problem figure?

Problem Figure

]

Answer Figuns
MFM«T
L‘HL"A
Ans x1 A
Xz2D
X 3B
viC

Q.2 firm & ¥ #l7 wr s e ¢ ows = 2017 & sne ww . ‘
ufafEss ot weme wre faear? Question |D 19864492379

Who among the following is an Indian gymmnast who received the prestigions Padma Shri SRl ATSwamg
Award in 2017 by the Government of India®? Chosen Option : 1

Sakshi Malik

G iy
PV Sindhu
FAT g
Koneru Hampy
v AT FA
Dipa Karmakar

Ah‘
L‘"‘

F

P

Q.3
[ Question 1D : 9864494124



Ans

NI AR I weRm A X w e AT ¥ 17§ e Y
TR IS W 4E B Ofr T O e aes muw & ofmEfEe w oA A
PO A # 7A@ A # Afe A g e oo

Students are sitting in a row in which the position of X ia 17th from the left and that of ¥
is 14th from the right. If they interchange their poesitions, X{"s position becomes Tih from
the beft. How many students are there in the row?

X121
<219
N2
v 20

Status - Answered
Chosen Option -1

Q.4

Ans

PR s s s i S R R se w
fawes sw o & &l

RE75E%MIWASQSHB2ASMS
Using the following sequence, determine which of the given options does not belong to
the group.

RE7SE%M3W4SQO4B2ASMS
X 1.3Q2
v 2 4H#M
X 3 REW
X + B%4

Question 1D : 9864493929
Status : Answered
Chosen Option :3

Q.5

Ans

for v e 5T TEw w1 o 9T w1 T Geatatee et # @ Fem e
o F T B & T gdiee 3

50 oSt £ oE A T ¥ X & o 1w i
T

LYFRARXT4immaaT it g aoa
ZZwmAEmX A2 yw iAo

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is X's rank from the top in a class of 50 students?

Statements:
1. Y5 rank is 4 mnoks below that of X and 30th from the bottom.
2. Z's rank s 2 ranks above that of X and 32nd from the bottom,

.
for o wae = TeRT 3 & Bye 1 avier ooy E, SR 2 sieer odiew S
4]

1 dlope s sulficient while 2 alone is not sufficient to answer the given question,

Xz
for T qve @7 3T 3 & TAT 2 Ay gove ¥, oEfE 1 s gEe Al
gl

2 alone s sufficient while | alone is not sufficient to answer the given question.
W3
T 7T T # St & & v ar ar 1 I 2 g 2
Either 1 or 2 is sufficient to answer the given question.
g
RT 7T wea & 3002 & & w1 3k 2 = woreT &

Both 1 and 2 are sufficient to answer the given question.

Question 1D : 9864493956
Status : Answered
Chosen Option : 1

Q.6

Ans

o st o fire @ doer s b e AT e f st Ot i) R
#r wEET 5 A F oo F S wfue

A man looks ot a portrait and says, “She is my Father-in-law"s only grand-dasghter”, How
i4 the girl in e portrait related 10 this man’s wife?

Question ID : 9864494216
Status : Answered

Chosen Option :1




Q.7 & % sve-amgf (Problem Figure) & 78 Sem-3mfaal (Answer Figures) &
# TH A FiefE {1 9 Se-a W W R

Froblem Figure

S

Answer Figures
Fat A
I3 Ceced e

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Amnswer Figune?

><
B 7 /(\
< N K ®

A

Ans X"-A
v:B
Xsc
X4D

c o

Question ID : 9864494056

Status : Answered

Chosen Option : 2

Q.8 afy WAEAOT 36° - ax + 6 = ax’ + 2x + 2 W TEG R @ (TR AW A
 a F uATAE A w4 g

If3x% - ax + 6 = ax? + 2x + 2 has only one {repeated) solution, then the positive

Question 1D : 9864492796

Status - Mot Answered

integral solution of o is: Chosen Option : -
Ans ¢1 2

~<24

Xas

K43
Q.9

Question 10 : 9864494052

Status - Answered

Chosen Option ;2




Ans

rmmEwiEma T A T T e E e R AR
7 7 Ty e b

15 Fwdr 2017 7 X & oy w9

LEH

1. X 3 A Y % 50 % =mE i
2 ¥ o # & 20 o oer

Consider the given question and decide which of the following statements is sufficient to
answer the guestion,

How old was X on 15 January 20177

Statements:

1. X is 50 years older than his brother Y.
2. Y s 20 years younger than thiz mother,

1

mxmmwm#tmmzm:mm1maﬁ
|

:a]m is sufficient while 1 alone s not sufficient to answer the given question,

¥ &
AR S Rradidkad e oam
Neither Inor 2 is sufficient to answer the given question.

X3
T o @e W IeT & F YT e 1 9 & ARRw s 2 v =
Ia-!l]umtismﬁicimtu‘hihcla&om'uummﬂ]cltmmm“uﬂugivmquﬁtm

754

f&&r 91T woa & Feaw & & fow 1 3 2 g T #
Both 1and 2 are sufficient to answer the given question.

Q.10

Ans

frlr arg & T @ e oy gl eEm i e st e g B 7

What happens to the Potential and Kinetic energies of a body as it falls down from a
Teight?

751

srh TuRE st s Il g el s s e IR B
Its Potential energy increases while its Kinetic energy decreases.

F -

s AT Rk s s s T S &
Its Potential and Kinetic energies decrease.

F

s AT e e A e REST aA A ¥

There is no change in its Potential or Kinetic energy.

o
R T s st T R s wm TSt
Its Potential energy decreases while its Kinetic energy increases.

Question |0 : 9864493382
Status - Answered
Chosen Option : 4

a1

Question |10 ;9864493078
Status : Not Answered
Chosen Oplion ;-
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Arrange the following in a proper sequence.

Mutation
Reproductive isolation
Natural selection
Evolution

Ans X' 1.C,B,A,D
v 2 A B,CD
X3D,C,B,A
X4ACDB

gowe

Q.12 vx 3w B o waew 90 & Ay 20 B & s s g sl
g T o i S o maor &

An incident ray strikes a plane mirvor at an angle of 20° with the miror, The angle

Question 1D : 9864493623
Status - Answered

between the incident ray and reflected rayis Chosen Option ;1
AR XK %200
X 2.50°
v :140°
X 4 40°
O3 orET U, T V & 9 e 9F #r 3R # Question ID : 9864494037
T W, 2T U & 5 freifier gfEyor &r 3% 2 Stalzs; Ansaured
Chosen Option : 4

9rET X, MET W & 3 raireiter afdas & 3T )

BT Y, MET X ¥ 5 rarder e #r 3T &
AET Z, MY X ¥ 7 Freieer f@or & 3% §

FlT ¥ orET Wl Y@ 9w g 7

City U is 9 km towards the east of City V.
City W is 5 km towards the south of City U.
City X is 3 km towards the west of City W.
City Y is 5 km towards the north of City X.
City Z is 7 km towards the south of City X.

Which of the cities lie on a straight line?
ans X 1 UVW

X 2 YWU

X 3 UXZ

v« XZY

Q.14 .
Cuestion 1D ;9864494173



frafefle goen A&, s Rew (7) g oy oy e nqefiure ) R Status - Answered
e Frredt & weeteys wow & wae w1 Chosen Option 4

8,12,16,20.7

In the fiollowing series, one number is missing as shown by the question mark (7). Select
the missing number from the given options

8, 12, 16, 20,7

Ans x1 22
22
32

32
26

26
24

24

b

X 3

W

Q.15 & 7o &1,
(-8)[36 + [7- (-2))] + (- {19-(-3) = (-5)} =7
Solve the following:
(-8)[36 + {7- (-2)}] + (- 4){19- (-3) = (-5)} =2

Question 1D ;9864492919
Status : Not Answered
Chosen Option © -

Ans 4’12
G ]
Xi-4
X4 4

Q16 1 ® . 7 : :
Z FEH W UEEE 0324 ¥ A ¥ UE wEw 1.2 ¥ gwh B oamw o Gueslion 10 : 9384492860
The product of two numbers is 0.324. One of the numbers is 1.2, What is the other

number? Status : Answered
Ans ?( 1. 27 Chosen Option : 3
X227
X 3.0.027
v 027
Q17 oo fores® 99T WX o HOl 3w Fr @ G @ 7 2 a0 daieaier
What is the action of dry HCI gas on dry litmus paper? Status  Answered
Ans x 1 Chosen Option 1

Aol Perm IR aa Tr A MEa ar s &
Blue litmus paper turns red.

e ar o ReRw Y9 39T T FET agodr § |
Blue or red litmus paper does not change its colour.
X3

e EAw I e T H IREd & AT ¢ |
Blue litmus paper turns white.

4

e feay 9 e T & ofEfda @ sar ¢

Red litmus paper turns blue.

Q18
Question |D : 9864493985

Status : Answered



Ans

far v seeat F w AW W oo it ST o B Sie @ () e

Chosen Option -1

Tl &1 FHETE T # S (F ) =

W
s T A §| $o A 77§

e

1. §o #i¢ A= §
2. ¥ 78w A §)

Consider the given statements 1o be true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statemenis:

Most lawyers are females. Some females are mothers.

Conclosions:

1. Some mothers are females.
2, Some lawyers are mothers.

& Faer fhd 1 FFEOT FT B
Only conclusion 1 follows.
|1 AR 2 A seERor X E

Both 1 and 2 follow.
% Faor fAcwy 2 Ao FIAT E
3

Only conclusion 2 follows.
& AR 2 T e FE FA €
Nether 1 nor 2 follows.

X

x

Q.19

Ans

I Horle @ fahdeh v A R fsar s g

Syngamy is defined as:
X1

Cuestion 1D ;9864493097
Status : Not Answered
Chosen Option ;-

TEHITAHT & WY YFHIULHT 7 W T T Hordel
the fusion of one of the sperms with the synergid
5 372 & WY YHIVHT H F U & Hordel
the fusion of one of the sperms with the egg
| T 3R & e
the fission of one egg
i Te EIV] & fawse
the fission of one sperm

X

Q.20

Ans

250 T 38% Torees et 27
38% of 250 is equal to:

Question 1D : 9864492726
Status : Answered
Chosen Option : 2

X 1.104.5
w295
X 376



X 4114

Q21 ' i
A £ T 3w A W g IRy W it @ e e e Question 1D : 9864493896

Status - Answered
Chosen Option : 3

M
LLY

What is the mindmum mimber of straght lines required to construct the following figure?

11
L

ans 3 1.12
V213
X314
X411

Q.22 va Fea # i i 2 gy veaEt @ A e
How many times in a week does both the hands of thse clock will eoincide with each other?

Question ID : 9864492534

5 Status - Answered
s of 1168 Chosen Option : 2

< 2160
X< 384
< 456

Q.23 018 fr yEae # Rwrsr S S0 FRRE F A @t ¥ w9 & B
forgerr foam a7

Who ook over as the new CEO of IT giant Infosys at the beginning of 20187

CQuestion 1D : 9864492258
Status - Answered
Chosen Option : 3

" T
Rohan Murthy
,zmw
Salil Parekh
X 3 e =T
Vishal Sikka
K4.Wm

Raghuram Rajan

Q.24
Question 1D : 9864494229

Status - Not Answered
Chosen Option : —
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Select the missing figure based on the given related pair of figures.

Ans

.l L 4
”.’

Q.25 Rege ww =t arw & Be ehfes & & & @ o5 so B s i

Which of the following instruments is used to measure electric current?

A
® o, R

Question 1D ; 9864493525
Status  Answered
Chosen Opfion ;2

Rheostat
TFHTEY
Ammeter
et
Galvanometer

FecHRET
Voltmeter

W :

753

754

Q.26 5 Ay 5= Tl <ewd ¥ Bl ot = 3T o 30 1 ofy e
HT =T F T & gl 4043 A @ & e Sk Ree 17

From the top of a platform 5 m high, the angle of elevation of a tower was 30°, Il the
platform was positioned 403 m away from the tewer, how tall was the tower?

Question 1D : 9864492697
Status : Not Answered
Chosen Option -

Ans ; 40 m



i e
45m

Q.27 <o 1 7EE 77 UF A@5H & A 300 N §) T 7 FEE W 3 @5 5 A g
The weight of a boy on the surface of the moon is 300 X, The weight of the same boy on

Question 1D : 9864493119

the surface of the earth will be: Status : Answered
Ans J-, 1800 N Chosen Option @ 4
X25N
X 3 300N
X 450N

Q.28 wradt 2018 ¥ W J@ F S & meE wEue Reew A e i

CQuestion |D : 9864492227
Who is the Human Fesource Development Minister in Prime Minister Modi's cabinet as

of Febnuary 20137 Status - Answered
Ans w “’i Chosen Option ; 2
751
Suresh Prabhu
v T [ ICEC Ty
Prakash Javadekar
X3 SEIC] HTH
Jual Oram
x4 BT ey
Maneka Gandhi

Q.29 7y gu 3z & dh T T w IEEE 27 B R Y gT o & 9 fasms
# #iv A §O ¥ I e wTe 1 25 @ R wie # o A e
el e

The initial ratio of sugar to flour in a dough was 2 : 7. To 9 kg of the dough John added

Question 1D : 9864492745
Status - Not Answered
Chosen Option : —

more sugar o make the sugar to flour ratio 2 1 5. How much sugar did John later add?

i lod 1.2 ey
v
1.2 ke
750 ATH
750 g
800 3T
800 g

4_11%-7-ﬁ=1m
1kg

X2

X

X

Q.30 L
ﬁﬁﬁﬁﬁmﬁﬁmmmﬂm’r#mﬁaﬁ?’ Question 10 - 9864493515
Which of the following animals do NOT belong to the class of reptiles? Status : Answered

Ans FHT Chosen Option : 4

A




3ty 7 A ¥ GR % RO I US
@ SR b a1 T

Plants bend towards light due to the diffusion of the
hormone on the other side of the shoot.

Ans o HTeruaTle 3F (abscisic acid)
abscisic acid
ILEIGGE
gibberellin
v - HEE

-

auxin

AR

| cytokinin

> 2

4

Question 1D ; 9864493456
Status : Not Answered
Chosen Option : -

032 Sy fafte i & #e o urg T st s d:
The most reactive of the following metals is:
Ans X1 Ni

Question ID : 9864493071
Status : Answered
Chosen Option 3

X< 2 Pb
v Cca
X 4 Al

Q.33 afy 2 1000 F T TN 3 T F TEgh S B ET AT 1330 F I E, A wmw A
i 27 AT AT

If sum of T 1000 amount to ¥ 1331 in 3 years, compounded anmeally. Then, find rate of
interest per anmem?

Question 1D ; 9864492566
Status : Not Answered
Chosen Option © -

Ans X 1.15%

Q.34 st Rafire opaw oftswer (gambdrosmd) & dedst (Sl 2008 )
wa #7

Who is the CEO of the Unique Identification Authority of India (UTDAT) as of Febraary
20187

Ans

Question 1D ;9864492405
Status : Not Answered
Chosen Opfion ;-

HSAT S{NOT 9T
Ajay Bhushan Pandey

HSa Samer
.
Ajit Doval

W

Q.35 w7 & #ieEl F e TR TR W S deeR A FEAe s
¥ B 1= 7= few e A b

‘Which actress won the Kerala State Film Awarnd for best actress in her debat film
*Anuraga Karikkin Vellam™?

Question 1D : 9864492271
Status - Not Answered
Chosen Option ;-

i uferen s
e
Rajisha Vijayan



qrEdT

| Parvathy

x 3 e Feae
Nimisha Sajayan

x o T LA TS

Anna Reshma Rajan

N2

Q.36 7 or vegdE frow w5 it Tl o T oged A Ren wte ar sEe
fofe @ #

ELH

Cuestion 1D ; 98644936956
Status ; Answered
Chosen Option : 2

waw ofter & #9 ©F @ 9w wuh # B b

mqﬁmﬂmmmﬁmﬁmﬁmﬁﬁm#ﬁﬁﬂm
FTE

2. wivte ofET # fredr off o9 W WE @ IwET wo A el at

Consider the argnment and decide which of the given assumptions is‘are inplicit.

Argument:
Use of cell phone is strictly profubited on the college premises.

Assumptions:
1. Students uwsing phones on the college premises will be strcily punished.
2. No student is allowed 1o use a phone on college premises,

s i Faer g 1 kT
Only assumption 1 is implicit

Fae g 2 ke @
Only assumption 2 is implicit

1 3 2 gt e #

Both 1 and 2 are implicit

BEEAE S8 PR ok

Neither 1 nor 2 is implicit

v

O o & § 9 W uig 6 e 82
Which of the following metals is the most Malleable?
Ans x 1 ZI]

Cuestion 1D : 9864493392
Status : Answered
Chosen Option : 2

X2 Al
X3 Ag
v ¢ Na

Q.38 yufy Wy & Ffege W & @1 WO B §F (TR & sy
¥ ¥ & famy v e i

Who has been appointed as the Chaimman of the State Bank of India (5BI) after Arandhati
Bhattacharya retired?

CQuestion 1D : 9864492224
Status - Answered

Chosen Option : 1

A Torer AR
W
Rajnish Kumar
x 5 . TRCTHT
K Venkataraman



[qUT &FIT
P

Rana Kapoor
x4ﬁaﬂ¢w

Kishor Kharat

Q.39 7 2250 $r offr 0T 3% FURDT T =S Y 2T # 2 9t #F e =
T Y

The interest camed on T 2250 at the rate of 3% sunple mterest per annum for 2 years wall

Cuestion 1D ;9864492747
Status : Answered
Chosen Option : 2

Ans. K A.T 225
V23135
X 3% 202.50
X + T 67.50

Q40 . 3
2; & A ¢

Question I1D ;9864492582
Status : Answered
Chosen Option : 3

Reciprocal of 23

Ans

3
x13g

W afafae & & #i9 o = eg €7
‘Which of the following statements is INCORRECT?
Ans ,” 1
gerat & For B =gE & @9 2
The particles of matter are in stationary state.
X 2
geraf & FUT Uw gEY W e F ¥
The particles of matter attract each other.
p
9y & Foit F @7 F N o §
The particles of matter have spaces between them.

gerd ¥ T g O B gl

The particles of matter are extremely small.

75 4

Question 1D ; 9864493608
Status ; Answered
Chosen Option : 3

Q42 fow 1T eZ-grA F IR YR-TIA F 94 REet ¥ FH

T ;O
Select the word pair that is analogous to the given word pair.

Horsze : Pony
Ans

Question 1D : 9864494264
Status - Answered
Chosen Option : 1




v &rer ; oot (Larva)
Insect : Larva

x> fgzor ; fReofr

Stag : Doe

3a1ngmﬁﬁ:mm=ﬂmnﬁ

Drone : Bee

X4_ﬂt-:r:i€r

Son : Daughter

X

Q43 Tl gea & et AT wW woEmT 3 7 F EEwET & e F E?
The ratio of the areas of & square and a regular hexagon, both inscribed in a circle is?

Ans x12:3

Question 1D
Status

9864492394
:Not Answered
Chosen Option :

X23y/3:2
vi4:3/3
X4.1;1j§

Q.44 e wmorst & sitEw 6 1 ofr one 2 wEmnd W e 5 @ o dfm
& & 3 9= FEe w1 §

The average of three numbers is 6. The average of the first two is 5 while the average of
the last two i 5, The three numbers are:

Question 1D
Status

9864492738
- Answered
Chosen Option :

Ans  X'1.2,7.9
X 22,610
322828
X43,7.8

Q.45 mr wf i & yfes 4 feaeds & o a0 Bl 40 diieT § oA el
o Zam 3.2 ey # g 79w & P wEg

A sowrgl wave has a frequency of 4 kHz and a wavelengih of 40 cin The tunse taken by the
sonnd wave 1o travel a distance of 3.2 km 15

Question ID
Status
Chosen Oplion

9864493284
:Not Answered

Ans u
v 2.0 #F3
20s

x , 0.5 #F3
0.5s
x5 4.0 TF3
40s
x 4 1.0 3
10s

Q46 svmn s e s s sg st s h =
& A & @

Kaolleru Lake, located i the southern state of Andhra Pradesh, is located at the delta of
two rivers. Which are the rivers?

Question 1D
Status
Chosen Option

(9864492134
:Not Answered

Ans x1§mnﬁhmﬁﬁ
Krishna and Cauvery
x o T AR ey

Godavari and Mahanadi



SR

Tungabhadra and Chitravathi
" aieradr 3R Feomw
Godavari and Krishna
Q.47 :
e | FwEEdT | wEE | faver | aneer % Question ID - 9864494076
A 200 150 50 - Status - Answered
B - 200 | 100 B66.6 Chosen Option - 1
c 150 50 100 -
D 120 - a0 25
fodr ar ¥2r & WUR 9T, MY A F OEERET Wi gl
Population | Literate | Illiterate | % of
literates
A 200 150 50 -
B = 200 100 66.6
C 150 50 100 -
D 120 = 90 25

Based on the given data, the percentage of literates in City A is
Ans J 1. 76
X280
X 365
X470

Q.48 =R e o s & woiw v A el o Tl R & oamem 125 ) )
¥ wm # wEm g sz G s, A whed & fr Brdfte wwmst e ksmehoyy 10:: 988480407
F+ vt R g Status : Not Answered
Chosen Option : -

R+JM2SHQR7-O@TF2

1f each term in the given sequence is assigned number 1, 2, 3., sccording to their position
from the beft, ihen the sum of the numerical values of the positions of the symbols will be

REIMISEQRIOETES
Ans O 1. 44
X 248
v 49
X 451

Q.49
Question 1D : 9864493688

Status - Answered
Chosen Option : 3




T W AB T3 9T T ¥ BT 9vF W (Problem figure) ®T 29T STafiE

Answer Fipares

AB A
::_A% .I.‘x S M, \;‘j l\_,{%a
(A R ™ &

A 8 c o
Choose the correct mimor image of the problem figure when the mimor is held &t AB line:

Problens Frgure A
:’A\_ ] !v::
g) |
i,
[~ | A% | A | o~ #
.."r: N I: % %{ ) |/
NV, V| #
o L
Ans X 1 B
X2C
o 3 A
N 4D
Q50 ZoT FI Question 1D ;9864493020
. B P _ 9 Status : Answered
24 + (20-12 + 3 x 8) = 7 Chosen Option - 4
Solve the following:

24 = (20-12 -+ 3 % 8)="7
Ans 1 3

X2.3

X386

Vi 2

Q51 gfE sec® + tan® = 4 @ A secH- tand =?
Ifsec® + tanB = 4.thensec @ - tanf@ =7

s K 10,75

Question 1D ; 9864492978
Status : Answered
Chosen Option :4

X205
'3 0.25
X1

W2 7fE 19 x 23 =437 @, a 190 x 0.023 =?

19 X 23 = 437. Then 190 x 0.023 =?
Ans X 1.0.0437

Cuestion 1D ;9864492680
Status ; Answered
Chosen Option ;4

X2437
V'3 437
X +0.437

Q.53

CQuestion ID : 9864494228
Status : Answered



hwmﬂﬁmﬂmmﬂﬁ:ﬂanmﬁthﬁmﬁ#[ Chosen Option :3
e T T T §

qure $ 3\ G
FA:

1. Fome ft A SEE 20 % o6
2. Fom & sk e g A 3 36 o

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How old 15 Mrinal?

Statements:

1. Mrinal's mother i5 20 years odder than him,
2. Mrinal*s brother is 3 years younger than him.

Ans x1

forr T 9w S & BT 1 v g &, SR 2 sk e o
#
Statement 1 alone is sufficient but statement 2 alone is not sufficient 10 answer the
question.

r
T 17 9aF 7 IA7 o o TAT 2 ankar oot &, FEtE 1 IR oanee A
gl

Statement 2 alone is sufficient but statement 1 alone is not sufficient 1o answer the
question.

o
fow 7o v @ IR & & w1 o 2 o v wvy v o £ o e
T & & Taw Rt et oo B
Statements 1 and 2 together are not sufficient, and additional data is needed to answer the
fquestion.

X 4

for 7T WA & Iea7 & & Tw 1 ol 2 O o Ay e £ AR o
i e A #

Baoth statements taken together are sufficient to answer the question. but neither statement
alone 15 sufficient.

G e i O &Y i
s g e e S 8, A e 3 U 1 T IS e Question |D - 9864493540

e frmm S i st ;
When a bullet is fired from a gun, the gun moves in the opposite direction. This illustrates tatus : Answere
Hewtoa's: Chosen Option :4

Ans
x aTfex 1 g AR gEw s

first and second law of motion
v: QIGEAGIE AT
third law of motion

y a1fer &t g faas

>
second law of motion
x 1 TS &1 9gen FTH
first law of motion

5% FIGT Tothe T Tl g o= Question 1D - 9864493169

Status : Not Answered

Aqueous solution of copper sulphate: e

" feaE @ wiRe AE e §

does not affects litmus
¥ &



<Mrer foreare i oirer 1 3 ARt HT ¥
turns blue litmus red

F )

ATl foreAw &t Aoy Tr A ofEafaa aarg

turns red litmus blue
75 4
orer 3T ey 2= RieAT = wnfag Far &

affects both red and blue litmus.

a5 & 7§ y@en F Eed Ry F AWT F

FJIE I e ]

Question 1D ;9864494186
Status - Answered
Chosen Option 11

(ad &) L] () (e}

Select the odd figure out of the following figure series.

Y]]
Ans 1(C]
(c)
: (b)
(b)
, @
(a)
(d)

X

v

Q8 Arggiee RAW] # UTEUA FggieAl HT FEAT T 82
The number of neutrons present in a nitrogen atom is
Ans 1§

Question 1D : 9864493490
Status : Answered
Chosen Option 3

X214
X311
vi7

Q58 G & ¥ ol T Wt g a6 B2
‘Which of the following is NOT a radioactive element?

Question 1D : 9864493586
Status : Answered
Chosen Option ;1

A v CAErAT )
Titanium
RIfeaH

N2 =

Plutonium

afas

Thorium

3



X4.u3m

Uranium

Q.59 fyw 71w &7 MW F sgEn wen & $w o gww o @ A ol § o
o f firziaepnee § R 17

Question 1D : 98644941356
Status : Answered
Chosen Option ;1

| s il

e Dlisgled

Boys -@FH

Athletics -farmmdt

Girls -wrefear

Disciplined -!rq‘ﬂlﬁrﬂ

According to the given Venn diagram, the number of boys who are neither athletes nor
disciplinedis .

—_— Al

] —  isns [ ]
[ —— ]

Ans f-‘;,_1'16'“
X21
X311
X7

QLED Tarm wrfr Toemdt & 2017 & Trw IUw Hiw dfies e S am
Which Indian player won the Yonex US Open Badminton Tounament in 20177

o TR

Question 1D ;9864492300
Status : Answered
Chosen Option : 3

F
Srikanth Kidambi

Ve HS Prannoy

Q.61

Question |0 : 9864494244
Status : Answered

Chosen Option ;1




Ans

T T F RN m R FRraw s AT w (@ 5w
wurEsmEr & (B

FIT ATIET 98 A% 4 AgAd ST SET FE A9 W9 W9 R #+
sirgrms & wff w2w 3 B

T 1 T AgeE o A e wW Ty o A e ae e
FTEr e F s oftew & # srmvmEe A

TR 2 : AT ¥ § g o BT Apee w1
Read the given question and decide which of the following argument(s) is‘ane strong.

Should you work hard till you make your signature ino an autograph?

Argument 1: Work until you no longer have to introduce yourself,
Argument 2: Work hard 1o become financially secure.

! 3k 2 gt gerERmEr AT §
Neither argument 1 nor 2 is strong.
_ 1 3R 2 3t semaeren €
Both arguments 1 and 2 are strong.
. FFer T 2 THTIET 2
Only argument 2 is strong.

4%mna%11mmnmﬂ%1
Only argument 1 is strong.

x

X

v

Q.62

Ans

T AT AN T aR B @A T § & v & AT W, T ) _
1 w0 A, v Ry & g & T st an o S fX T o Seston D DAGeARaR I
ey § it st o S Tant ) o ¥ T & a, dter s e Status : Not Answered
7% uEee & fAv 135 9 & wRT ae , wafE O @ W & ue i Chosen Option : -

TER A 6 B @ §1 W et #r afw 30 Reenter of oo @ A ae
#r oy G famier of ger o

Peter belongs to Town A and Paul belongs to Town B, They start their powmeys towards
each other's towns following the same route at the same time. They meet somewhere on
the way anid contimse with their joumeys. After meeting Paul, Peter takes another 13.5
Trouss 1o reach his destination while Paul takes another 6 hours 10 reach Peter’s town. 1T
Peter travelled at the speed of 30 kmvh, what was Paul's speed in km/h?

X 1425
V245
X 3 40
X 4475

Q.63

Ans

=T meal S SOAT Fear F(9), P(15), CI(1T), Ar18) & B & & B ) ]
i - Tfmiﬁf? Question 1D ; 9864493594

i i Status : Not Answered
Atomie numbers of four elements are as follows: F(9), P{15), CI{17), An{18). Which of the
following two elements would be chemically similas? Chosen Option : -

X1 F 3T Ar
F and Ar
clix P
Cland P
xjf=ﬁnp
F and P

F



v F3rc
F and CI

Q.64 H#ry fr o fow &1 U 30T I W (Answer figures) & ¥ T & el

Ans

o mrn §) sodtes waem R (Problem figure) TAifas s a1 @it
festewh

Probiem Fagme

| —

Answer Fizmes.

[ A

N | / : r
b | | "\. 4

""'u s l /T
\ / |

| S -} W

A B i n

The below figure is embeddad in one of the four answer figures, the corect figure
containing the above problem figure is:

Pobim: Fiaue

F

W A

L

\\‘k | LY
\ | Y Wi

)

X 1B
XzcC
v 31D
X4A

Question 1D : 9864493656
Status - Answered
Chosen Option : 3

Q65 Fremep sivs ww TR R FER 371 ez 3 45 e & s e ) @ e

et 1 & 50 e A vy s, afy oy B Trere wre w2 o T =
¥l

Two ﬂlml’mdﬁmﬂilammpina‘lémmmd#s minutes respectively. Both
valves are opened. The sump will be filled in just 30 minutes, if valve B is tumed off

Question 1D ;9864492472
Status : Not Answered
Chosen Opfion ;-

Ans ¢1 gm
9 min
xz_ﬁﬁ'-'l?-lz'
6 min
xﬂmﬁmz
10 min
x4_sﬁl=|z'
5 min
Q.66

Question ID : 9864494143
Status : Not Answered



Ans

A & ik e S T i SEE TR oT s A T 3few Rk
T Fi-
e (NEET) & & wirem & w2 a1 it & e eefafae o ag
#r g
1, oiemdf st 128 e # dafraw, At oF o T A
FoAAH 50% WA I g e
2. 31.03.2018 =t viemf s 17 T4 @ Tf
3. wiemit zanr se 124 # Sefiee, A o o et =
T FA AT

it 1 e Fr FeRET 14-05-2001 &, FHS Ao, ifEEn e
T SEfe & 0% 3% ax r fi

gitemft 2 : e & IR 16-08-2000 &, 30+ shafasmw, wifadr o
THIETES # B0% 3% W v §i

e (NEET) v fraer & e wree s 7

Read the given information and decide the appropriate course of action.
NEET examination has laid the following conditions to qualify for appearance in the
WEET Exam.

1. Candidate should pass Grade 12 with o minimam of $0% marks in Biology, Physics

aml Chemistry group.

2. Candidate should have completed 17 years as on 31-03-2018,

3. Candixlate should have opted for Biology, Physics and Chemistry in Orade 12,
Candidate 1: Ram's date of birth is 14-05-2001, with 40% marks in Mathematics, Physics,
Chemistry and Biology.

midm 2: Sham™s date of birth is 16-08-2000, with 60% marks in Biclogy, Phystcs and
ustry,

Who is eligible to write the WNEET Exam?
v Faer qftemet 2 Fr grEr 97 B
Only candidate 2 is eligible.
X2
gdemeff 1 3 2 A=t & T 9T g
Both candidate 1 and 2 are eligible.
, e aftemedf 1 & grIar rea F
Only candidate 1 is eligible.

r
a7 ar gfvemeff 1 3 7 & 2 Fr grFar =7 B

Neither candidate 1 nor 2 is eligible.

X

Chosen Oplion -

Q.67

oty iRt a0 & &7 wE OiTE & e @ e A sk afes
Tt TweRr wRfReE AT IS W oo A 8 A E oo w® AW e E 2

If the velocity of a body becomes two times its instial velocity, its kinetic energy becomes
o times ifs instial kinetic energy. What is the value of n?

Question ID : 9864493201
Status : Answered
Chosen Option ;2

Ans x.l 6
1
2 f—
X ¥
X33
vi4

Q.68 7 spwE ’ —w + bR Em s A E A i FEm R E

Ans

If the zeroes of the polynomial x* — ax + b are 3 and 4, then *a" and *b" are respectively
equal to

v 17,12
X 24,3
X< 33,4

Question 1D ;9864492535
Status : Mot Answered
Chosen Option : -




X 4127

Question 1D ; 9864493867
Status  Answered
Chosen Option ;4

A8 et 1 svg F T sl T
Problem Figure
|
—  ?
Answer Figures

l

1 2 3 4

Choose the correct figure that replaces the question mark.
Problem Figure

Answer Figures

b
e
i

Ans  OC 1. 9
X224
X1
vi3

Q.70 st7 F W ¥ &1 20168 & &9 7o # A W ww vE W RE
(37T 3T 3w UF FTH) T g 2

Which Indian actor won the Ordre des Ans ef des Lettres (Order of Arts and Letters) from
the French Government in 20167

Question 1D : 9864492283
Status - Answered
Chosen Option : 1

Ans x1_3“3"'““

Q71 Fmyfarer s AR A, 7t ¥ R AR T ate R

In the Modemn Periodic Table, elements are arranged in:
Ans

Question 1D ;9864493553
Status : Answered
Chosen Option : 3

& ITAT] HET H &

increasing atomic number



. AT HET H FHH
2.

decreasing atomic number
B T g8 SRA] FeqA HEAT

increasing atomic mass number

754

decreasing atomic mass number

Q72 11 el 2018 F TTAR B 115 2019 F H W R @m
11 January 2018 is a Thursday. On which day will 11 June 2019 fall?

Ans Tﬁ'ﬁ'lT

CQuestion |0 : 9864492793
Status - Answered
Chosen Option : 3

X1
Sunday

v? HITeET

) Tuesday
TUEN
Xa?
Wednesday
HHIR

75 4
Monday

Q.73 ufds gun ¥ &7 & i 7o off ST o T S aEEEEE @
T o W Wi B

His greatest aclievement in the feld of religious reform was the setting up of the Brahmo
Sabtha and the Brahmo Samaj. Who is he?

Question 1D : 9864492101
Status : Answered
Chosen Option ;1

A 1_ﬁ1ﬁram;iamﬁ'r

& Swami Dayananda Saraswati
3 ST fETT THESN IHEEAT
Dr. Bhimrao Ramji Ambedkar
X 3 = fReEe
Swami Vivekananda
v T T AgeT T
Raja Ram Mohan Roy

Q74 frer are Rpesit F ¥ WA WERT S FT TTT H

aEfaw | F

Question |1D ;9864493714
Status : Answered
Chosen Option : 3

Select the correct analogous pair from the given alternatives.
Bible : Quran

Ans n
xtmm.marw

God: Man
93T ¢ B

r
Worship : Place



xﬂ:iﬁx:'mim
Temple : Pray

Q78 36, 72 3T 126 Fr 7.H. Braar gem? Question |0 + 9864493023

What is the HCF of 36, 72 and 1267
Ans 1. Q

X 236

X312

V18

Status - Answered
Chosen Option : 4




